Ferdinand Chovanec Compatibility problem in quasi-orthocomplemented posets

Mathematica Slovaca, Vol. 43 (1993), No. 1, 89--103

Persistent URL: http://dml.cz/dmlcz/136574

Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1993

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz



Math. Slovaca, 43 (1993), No. 1, 89-103

COMPATIBILITY PROBLEM IN QUASI-ORTHOCOMPLEMENTED POSETS

FERDINAND CHOVANEC

(Communicated by Anatolij Dvurečenskij)

ABSTRACT. The conditions when Boolean subalgebras in a quasi-orthocomplemented poset may be embedded into a Boolean σ -algebra are studied.

1. Introduction

One of the actual problems of the mathematical description of quantum mechanics is the problem of simultaneous measurement of several observables. In the classical K o l m o g o r o v model [5], the measurement of non-quantum observables is performed within the framework of Boolean σ -algebra models [9]. For quantum mechanical observables there exists a model of quantum logics [10]. On the other hand, in the quantum logics there are also observables which have the classical character, i.e. their ranges are embedable into a joint Boolean σ -algebra.

The main goal of the present paper is to present conditions showing when the ranges of observables in a quasi-orthocomplemented poset are embeddable into some Boolean σ -algebra. This question is known as the compatibility problem and it has been solved for various classes of quantum logics using various notions of compatibility [1, 4, 6].

We recall that there is a different axiomatic model for measurements of quantum mechanical observables based on fuzzy sets ideas, called an F-quantum space [8], where this problem has been solved, see [2].

We note that our methods are similar to classical ones for quantum logics, however, for the existence of a Boolean sub- σ -algebra we have to use very fine steps.

AMS Subject Classification (1991): Primary 81P10.

Key words: Quasi-orthocomplemented poset, Observable, Commensurability, C- σ -distributive property, F-compatibility.

2. Quasi-orthocomplemented poset

By a quasi-orthocomplemented poset (q.o.p.) we understand a partially ordered set P with a quasi-orthocomplement $\bot: P \to P$ such that the following conditions hold:

- (i) $(a^{\perp})^{\perp} = a$ for any $a \in P$;
- (ii) if $a \leq b$ then $b^{\perp} \leq a^{\perp}$;
- (iii) $a^{\perp} \neq a$ for any $a \in P$;
- (iv) if $\{a_n\}_{n\in\mathbb{N}}\subset P$, $a_i\leq a_j^{\perp}$ for $i\neq j$, then

$$\bigvee_{n\in\mathbb{N}}a_n:=\sup_{n\in\mathbb{N}}a_n\in P.$$

Example 2.1. Every Boolean σ -algebra is a q.o.p.

E x a m p l e 2.2. Every quantum logic, i.e. a σ -orthomodular poset (see [7]) is a q.o.p.

Example 2.3. Let (Ω, M) be an *F*-quantum poset (see [2]), i.e. Ω is a nonvoid set and $M \subset [0, 1]^{\Omega}$ is a system of fuzzy sets such that

- (i) if $1(\omega) = 1$ for any $\omega \in \Omega$, then $1 \in M$;
- (ii) if $f \in M$, then $f^{\perp} := (1 f) \in M$;
- (iii) if $1/2(\omega) = 1/2$ for any $\omega \in \Omega$, then $1/2 \notin M$;
- (iv) $\bigcup_{n \in \mathbb{N}} f_n \in M$ whenever $f_i \leq f_j^{\perp}$ for $i \neq j$ and $\{f_n\}_{n \in \mathbb{N}} \subset M$.

Then M is a q.o.p.

Example 2.4. Let V be an inner product space. Let $L = L(V) = \{A \subset V : (A^{\perp})^{\perp} = A\}$, where $A^{\perp} = \{x \in V : (x, y) = 0 \text{ for all } y \in A\}$. Then L is a q.o.p., where the meet denotes the intersection of subspaces and the join is the minimal subspace of L containing given subspaces. We note that if V is a Hilbert space and $L(V) = \{A \subset V : (A^{\perp})^{\perp} = A, A \text{ is a closed subspace}\}$, then L(V) is a quantum logics.

Example 2.5. Let $X = (0, \infty)$ and the mapping \bot , $\bot: X \to X$, be a unary operation on X defined via $x \mapsto 1/x$ for any $x \in X$. Let P be a nonempty subset of X such that:

- (i) $1 \notin P$;
- (ii) if $x \in P$, then $x^{\perp} := 1/x \in P$;
- (iii) if $\{x_n\}_{n\in\mathbb{N}}\subset P$, $x_i \leq x_j^{\perp}$ (i.e. $x_i \cdot x_j \leq 1$), then $\sup x_n \in P$.

The operation \perp is a quasi-orthocomplement and P is a q.o.p.

LEMMA 2.6. Let P be a q.o.p. If $a \lor b \in P$ $(a \land b \in P)$, then $a^{\perp} \land b^{\perp} \in P$ $(a^{\perp} \lor b^{\perp} \in P)$ and $(a \lor b)^{\perp} = a^{\perp} \land b^{\perp}$ $((a \land b)^{\perp} = a^{\perp} \lor b^{\perp})$.

Proof. It is simple to verify it in a classical way.

A nonempty set $A \subset P$ is said to be a Boolean sub- $(\sigma$ -)algebra of a q.o.p. P if:

- 1. There are minimal and maximal elements 0_A and 1_A from A such that $0_A \leq a \leq 1_A$ and $a \vee a^{\perp} = 1_A$ for any $a \in A$.
- 2. With respect to \lor , \land , \bot , 0_A , 1_A , A is a Boolean sub-(σ -) algebra (in the sense of Sikorski [9]).

Let $B(\mathbb{R}^1)$ be a Borel σ -algebra of the set of all reals. We say that a mapping $x: B(\mathbb{R}^1) \to P$ is an observable of P if:

- (i) $x(E^c) = x(E)^{\perp}$ for any $E \in B(\mathbb{R}^1)$, where $E^c = \mathbb{R}^1 E$;
- (ii) $x\left(\bigcup_{n\in\mathbb{N}}E_n\right) = \bigvee_{n\in\mathbb{N}}x(E_n)$ whenever $E_i\cap E_j = \emptyset$ for $i\neq j$ and $\{E_n\}_{n\in\mathbb{N}}\subset B(\mathbb{R}^1)$.

If x is an observable of P, then the range of x, that is, the set $R(x) = \{x(E): E \in B(\mathbb{R}^1)\}$, is a Boolean subalgebra of P with the minimal and maximal elements $x(\emptyset)$ and $x(\mathbb{R}^1)$, respectively.

Let $a \in P$. We define an observable x_a as a mapping from $B(\mathbb{R}^1)$ into P such that

$$x_a(E) = \left\{egin{array}{ll} a \wedge a^ot \,, & ext{if} \ 0, 1
otin E\,; \ a^ot \,, & ext{if} \ 0 \in E\,, 1
otin E\,; \ a\,, & ext{if} \ 0
otin E\,, 1 \in E\,; \ a \lor a^ot \,, & ext{if} \ 0, 1 \in E\,; \end{array}
ight.$$

for any $E \in B(\mathbb{R}^1)$. The observable x_a plays the role of the indicator of the event $a \in P$ and the range of x_a is the set $R(x_a) = \{a, a^{\perp}, a \lor a^{\perp}, a \land a^{\perp}\}$.

In accordance with the theory of quantum logics, we say that two elements $a,\,b\in P\,$ are

- (i) orthogonal and write $a \perp b$ if $a \leq b^{\perp}$;
- (ii) compatible and write $a \leftrightarrow b$ if $a \wedge b$, $a^{\perp} \wedge b$, $a \wedge b^{\perp} \in P$ and $a = (a \wedge b) \lor (a \wedge b^{\perp})$, $b = (a \wedge b) \lor (a^{\perp} \wedge b)$;

(iii) strongly compatible and write $a \stackrel{s}{\leftrightarrow} b$ if $a \leftrightarrow b \leftrightarrow a^{\perp} \leftrightarrow b^{\perp} \leftrightarrow a$.

It is evident that if $a \leftrightarrow b$, then $a \lor b \in P$.

We note that if $a \leftrightarrow b$, then it is not true, in general, that then $a \stackrel{s}{\leftrightarrow} b$. Indeed, let (Ω, M) be an *F*-quantum poset, where *M* contains two different

constant functions f and g with 0 < f < g < 1/2. Then $f \leftrightarrow g$ and $f \leftrightarrow g^{\perp}$, but $f^{\perp} \nleftrightarrow g^{\perp}$.

It is easy to verify that $a \stackrel{s}{\leftrightarrow} b$ if and only if $a \leftrightarrow b^{\perp}$ and $a^{\perp} \leftrightarrow b$. Further, $a \stackrel{s}{\leftrightarrow} a^{\perp}$, $a \stackrel{s}{\leftrightarrow} a \wedge a^{\perp} \stackrel{s}{\leftrightarrow} a^{\perp} a \vee a^{\perp} \stackrel{s}{\leftrightarrow} a \vee a^{\perp} \stackrel{s}{\leftrightarrow} a \vee a^{\perp}$ for any $a \in P$.

LEMMA 2.7. If $a \stackrel{s}{\leftrightarrow} b$, then $a \vee a^{\perp} = b \vee b^{\perp}$.

Proof. Calculate

$$\begin{aligned} a \vee a^{\perp} &= \left((a \wedge b) \vee (a \wedge b^{\perp}) \right) \vee \left((a^{\perp} \wedge b) \vee (a^{\perp} \wedge b^{\perp}) \right) \\ &= \left((a \wedge b) \vee (a^{\perp} \wedge b) \right) \vee \left((a \wedge b^{\perp}) \vee (a^{\perp} \wedge b^{\perp}) \right) = b \vee b^{\perp} \,. \end{aligned}$$

We say that a q.o.p. P has

(i) a *c*-*f*-distributive property if for any finite subset $\{a, a_1, \ldots, a_n\} \subset P$ such that $\bigvee_{i=1}^n a_i \in P$ and $a \leftrightarrow a_i$, the equality

$$a \wedge \left(\bigvee_{i=1}^{n} a_{i}\right) = \bigvee_{i=1}^{n} (a \wedge a_{i})$$
(2.1)

holds (provided that at least one side of (2.1) exists in P);

(ii) a $c - \sigma$ -distributive property if for any $a \in P$ and any sequence $\{a_n\}_{n \in \mathbb{N}} \subset P$ such that $\bigvee_{n \in \mathbb{N}} a_n \in P$ and $a \leftrightarrow a_n$, the equality

$$a \wedge \left(\bigvee_{n \in \mathbb{N}} a_n\right) = \bigvee_{n \in \mathbb{N}} (a \wedge a_n)$$
 (2.2)

holds (provided that at least one side of (2.2) exists in P).

Any Boolean σ -algebra, any quantum logic as well as any F-quantum space have the c- σ -distributive property.

PROPOSITION 2.8. Let a q.o.p. P have the c-f-distributive property. The following statements are equivalent.

- (i) $a \stackrel{s}{\leftrightarrow} b$.
- (ii) There is an observable x of P such that x(E) = a and x(F) = b for some $E, F \in B(\mathbb{R}^1)$.
- (iii) There is a Boolean subalgebra of P containing a and b.

Proof. Let (i) hold. Put $x_1 = a \wedge b$, $x_2 = a \wedge b^{\perp}$, $x_3 = a^{\perp} \wedge b$, $x_4 = a^{\perp} \wedge b^{\perp}$ and define a mapping $x \colon B(\mathbb{R}^1) \to P$ via

$$x(G) = \begin{cases} a \wedge a^{\perp}, & \text{if } 1, 2, 3, 4 \notin G; \\ \bigvee_{i} x_{i}, & \text{if } i \in G, \ i = 1, 2, 3, 4; \end{cases}$$

for any $G \in B(\mathbb{R}^1)$. The straightforward calculation shows that x is an observable of P. If we put $E = \{1, 2\}$ and $F = \{1, 3\}$, then we get (ii). The statement (ii) evidently gives (iii) and (iii) implies (i).

3. Commensurability

We say that two nonempty subsets A and B of P are (strongly) compatible and write $(A \stackrel{s}{\leftrightarrow} B) A \leftrightarrow B$ if $(a \stackrel{s}{\leftrightarrow} b) a \leftrightarrow b$ for all $a \in A$ and $b \in B$.

It is clear that if A and B are Boolean subalgebras of P, then $A \stackrel{s}{\leftrightarrow} B$ if and only if $A \leftrightarrow B$ and moreover $A \cap B \neq \emptyset$ implies $1_A = 1_B$.

We say that a system of nonempty subsets of P, $\{A_t: t \in T\}$, is $(\sigma$ -) commensurable if there is a Boolelan sub- $(\sigma$ -) algebra of P containing all A_t .

The main problem of the present section is to give the necessary and sufficient conditions (=compatibility theorem) for a nonempty subset of P to be σ -commensurable.

A nonvoid subset A of P is said to be *f*-compatible ("f" as for finiteness) if for any finite subset $\{a_1, \ldots, a_{n+1}\}$ of A we have:

- (i) $u := a_1 \wedge \cdots \wedge a_n \wedge a_{n+1} \in P$, $v := a_1 \wedge \cdots \wedge a_n \wedge a_{n+1}^{\perp} \in P$;
- (ii) $u \lor v = a_1 \land \cdots \land a_n$.

A subset A is strongly f-compatible if the set $A \cup A^{\perp}$ is f-compatible, where $A^{\perp} = \{a^{\perp}: a \in A\}$.

PROPOSITION 3.1.

- (i) $a \leftrightarrow b$ $(a \stackrel{s}{\leftrightarrow} b)$ if and only if $\{a, b\}$ is (strongly) f-compatible.
- (ii) Every nonempty subset of an (strongly) f-compatible set is (strongly) f-compatible.
- (iii) The (strong) f-compatibility of $\{a_1, \ldots, a_n\}$ implies $\bigwedge_{i=1}^n a_i \in P$ $(\bigvee_{i=1}^n a_i \in P).$

Proof. The first two statements are evident.

If $\{a_1, \ldots, a_n\}$ is *f*-compatible, then from the definition we have easily $\bigwedge_{i=1}^n a_i \in P$. Suppose now that $\{a_1, \ldots, a_n\}$ is strongly *f*-compatible. Then $\{a_1^{\perp}, \ldots, a_n^{\perp}\}$ is *f*-compatible and therefore $P \ni \bigwedge_{i=1}^n a_i^{\perp} = \left(\bigvee_{i=1}^n a_i\right)^{\perp}$, which implies $\bigvee_{i=1}^n a_i \in P$.

PROPOSITION 3.2. Let P be a q.o.p. with the c-f-distributive property. If $\{a, b_1, \ldots, b_n\} \subset P$ is strongly f-compatible, then $a \stackrel{s}{\leftrightarrow} \bigvee_{i=1}^n b_i$ and $a \stackrel{s}{\leftrightarrow} \bigwedge_{i=1}^n b_i$.

Proof. Denote $J_0 = \{(j_1, ..., j_n) \in \{0, 1\}^n\} - \{(0, 0, ..., 0)\}, b_i^0 = b_i^{\perp}, b_i^1 = b_i \text{ for } i = 1, 2, ..., n.$ From the strong *f*-compatibility of $\{a, b_1, ..., b_n\}$ we have

$$P \ni \bigvee_{J_0} (a \wedge b_1^{j_1} \wedge \dots \wedge b_n^{j_n}) = \bigvee_{i=1}^n (a \wedge b_i),$$
$$P \ni \bigvee_{J_0} (a^{\perp} \wedge b_1^{j_1} \wedge \dots \wedge b_n^{j_n}) = \bigvee_{i=1}^n (a^{\perp} \wedge b_i),$$

therefore

$$\begin{pmatrix} a \land \begin{pmatrix} v \\ i=1 \end{pmatrix} \end{pmatrix} \lor \begin{pmatrix} a \land \begin{pmatrix} v \\ i=1 \end{pmatrix} \end{pmatrix}^{\perp} = \begin{pmatrix} \bigvee_{J_0} (a \land b_1^{j_1} \land \dots \land b_n^{j_n}) \end{pmatrix} \lor (a \land b_1^{\perp} \land \dots \land b_n^{\perp})$$

= $\bigvee_{J_n} (a \land b_1^{j_1} \land \dots \land b_n^{j_n}) = \bigvee_{J_{n-1}} (a \land b_1^{j_1} \land \dots \land b_{n-1}^{j_{n-1}}) = \dots = \bigvee_{J_1} (a \land b_1^{j_1})$
= $(a \land b_1) \lor (a \land b_1^{\perp}) = a,$

where
$$J_k = \{(j_1, \dots, j_k) \in \{0, 1\}^k\}$$
 for $k = 1, 2, \dots, n$;
 $\left(a \wedge \left(\bigvee_{i=1}^n b_i\right)\right) \vee \left(a^{\perp} \left(\bigvee_{i=1}^n b_i\right)\right) = \bigvee_{i=1}^n (a \wedge b_i \vee a^{\perp} \wedge b_i) = \bigvee_{i=1}^n b_i$,

which implies $a \leftrightarrow \bigvee_{i=1}^{n} b_i$. Analogously $a^{\perp} \leftrightarrow \bigvee_{i=1}^{n} b_i$.

It is evident that

$$\begin{pmatrix} a \land \left(\bigvee_{i=1}^{n} b_{i}\right)^{\perp} \end{pmatrix} \lor \left(a^{\perp} \land \left(\bigvee_{i=1}^{n} b_{i}\right)^{\perp}\right) = (a \land b_{1}^{\perp} \land \ldots \land b_{n}^{\perp}) \lor (a^{\perp} \land b_{1}^{\perp} \land \ldots \land b_{n}^{\perp})$$
$$= b_{1}^{\perp} \land \cdots \land b_{n}^{\perp} = \left(\bigvee_{i=1}^{n} b_{i}\right)^{\perp}$$

therefore, $a \leftrightarrow \left(\bigvee_{i=1}^{n} b_{i}\right)^{\perp}$, and we have proved that $a \stackrel{s}{\leftrightarrow} \bigvee_{i=1}^{n} b_{i}$.

Because the set $\{a, b_1^{\perp}, \ldots, b_n^{\perp}\}$ is strongly *f*-compatible, from the above we have $a \stackrel{s}{\leftrightarrow} \bigvee_{i=1}^{n} b_{i}^{\perp}$ and $a \stackrel{s}{\leftrightarrow} \bigwedge_{i=1}^{n} b_{i}$, too.

LEMMA 3.3. Let P be a q.o.p. with the c-f-distributive property and A, B be two different Boolean subalgebras of P. The following statements are equivalent:

- (i) $A \leftrightarrow B$.
- (ii) The set $A \cup B$ is f-compatible.
- (iii) The set $A \cup B$ is strongly f-compatible.

P r o o f. The equivalence of (ii) and (iii) is evident, therefore, $A^{\perp} = \{a^{\perp}:$ $a \in A$ = A for any Boolean subalgebra A of P.

Suppose (i). We prove that if $a, c \in A$ and $b, d \in B$, then $c \stackrel{s}{\leftrightarrow} a \wedge b \stackrel{s}{\rightarrow} d$. It is clear that $c \wedge (a \wedge b)$, $c^{\perp} \wedge (a \wedge b) \in P$ and $P \ni (c \wedge a^{\perp} \wedge b) \vee (c \wedge a^{\perp} \wedge b^{\perp}) \vee$ $(c \wedge a \wedge b^{\perp}) \vee (c \wedge a^{\perp} \wedge b^{\perp}) = (c \wedge a^{\perp} \wedge b) \vee (c \wedge a^{\perp} \wedge b^{\perp}) \vee (((c \wedge a) \vee (c \wedge a^{\perp})) \wedge b^{\perp}) =$ $(c \wedge a^{\perp}) \vee (c \wedge b^{\perp}) = c \wedge (a^{\perp} \vee b^{\perp}) = c \wedge (a \wedge b)^{\perp}$. Analogously $c^{\perp} \wedge (a \wedge b)^{\perp} \in P$. Calculate

 $\left(c \wedge (a \wedge b)^{\perp}\right) \vee \left(c^{\perp} \wedge (a \wedge b)^{\perp}\right) = (c \wedge a^{\perp}) \vee (c \wedge b^{\perp}) \vee (c^{\perp} \wedge a^{\perp}) \vee (c^{\perp} \wedge b^{\perp}) =$ $a^{\perp} \vee b^{\perp} = (a \wedge b)^{\perp};$ $(c \land (a \land b)^{\perp}) \lor (c \land (a \land b)) = (c \land a^{\perp} \land b) \lor (c \land a^{\perp} \land b^{\perp}) \lor (c \land b^{\perp} \land a) \lor$ $(c \wedge b^{\perp} \wedge a^{\perp}) \vee (c \wedge a \wedge b) = (c \wedge a^{\perp}) \vee (c \wedge a) = c$, that is $c \leftrightarrow (a \wedge b)^{\perp}$.

Further.

 $(c^{\perp} \wedge (a \wedge b)) \vee (c \wedge (a \wedge b)) = ((c^{\perp} \wedge a) \vee (c \wedge a)) \wedge b = a \wedge b;$ $(c^{\perp} \land (a \land b)) \lor (c^{\perp} \land (a \land b)^{\perp}) = (c^{\perp} \land a \land b) \lor (c^{\perp} \land a^{\perp} \land b) \lor (c^{\perp} \land a^{\perp} \land b^{\perp}) \lor$ $(c^{\perp} \wedge b^{\perp} \wedge a) = (c^{\perp} \wedge a) \vee (c^{\perp} \wedge a^{\perp}) = c^{\perp}$, therefore $c^{\perp} \leftrightarrow (a \wedge b)$, which gives $c \stackrel{s}{\leftrightarrow} (a \wedge b)$. Symmetrically $d \stackrel{s}{\leftrightarrow} (a \wedge b)$.

Let $a_1, a_2, \ldots, a_{n+1} \in A \cup B$. Denote $a_i^0 = a_i^{\perp}, a_i^1 = a_i, i = 1, \ldots, n$, $u = a_1^{j_1} \wedge \cdots \wedge a_n^{j_n}$, where $(j_1, \ldots, j_n) \in \{0, 1\}^n$. Only one of the following alternatives holds:

- (1) $u \in A$,
- (2) $u \in B$, (3) $u = a \wedge b$,

where $a \in A$ and $b \in B$. In any case $u \stackrel{s}{\leftrightarrow} a_{n+1}$, which implies $u \wedge a_{n+1}$, $u \wedge a_{n+1}^{\perp} \in P$ and $(u \wedge a_{n+1}) \vee (u \wedge a_{n+1}^{\perp}) = u$, therefore, the set $A \cup B$ is strongly f-compatible.

The converse assertion is evident.

PROPOSITION 3.4. Let P be a q.o.p. with c-f-distributive property. Then any two compatible Boolean subalgebras of P are commensurable.

Proof. If A and B are compatible Boolean subalgebras, then $A \cup B$ is the f-compatible set and $1_A = 1_B$. Define $D = \{a \land b: a \in A, b \in B\}$. Evidently $D \subset P$ and $A, B \subset D$, because $a = a \land 1_A = a \land 1_B$ and $b = b \land 1_B = b \land 1_A$. (i) If $u, v \in D$, then $u \stackrel{s}{\leftrightarrow} v$.

Let $u = a \land b$, $v = c \land d$, where $a, c \in A$ and $b, d \in B$. Then $u \land v = (a \land b) \land (c \land d) = (a \land c) \land (b \land d) \in D \subset P$. By the proof of Lemma 3.3, we have $c \stackrel{s}{\leftrightarrow} a \land b \stackrel{s}{\leftrightarrow} d$ and from the c-f-distributive property we get that

 $\begin{array}{l} (a \wedge b \wedge c^{\perp} \wedge d) \vee (a \wedge b \wedge c^{\perp} \wedge d^{\perp}) \vee (a \wedge b \wedge c \wedge d^{\perp}) = (a \wedge b \wedge c^{\perp}) \vee (a \wedge b \wedge d^{\perp}) = \\ (a \wedge b) \wedge (c^{\perp} \vee d^{\perp}) = u \wedge v^{\perp}, \end{array}$

therefore $u \wedge v^{\perp} \in P$. Analogously $u^{\perp} \wedge v$, $u^{\perp} \wedge v^{\perp} \in P$. Calculate

 $\begin{array}{l} (u \wedge v^{\perp}) \vee (u^{\perp} \wedge v^{\perp}) = (a \wedge b \wedge c^{\perp}) \vee (a \wedge b \wedge d^{\perp}) \vee (a^{\perp} \wedge b \wedge c^{\perp}) \vee (a^{\perp} \wedge b \wedge c^{\perp}) \vee (a^{\perp} \wedge b \wedge d^{\perp}) \vee (a^{\perp} \wedge b^{\perp} \wedge d^{\perp}) \vee (a \wedge b^{\perp} \wedge d^{\perp}) = (b \wedge c^{\perp}) \vee (b^{\perp} \wedge c^{\perp}) \vee (b \wedge d^{\perp}) \vee (b^{\perp} \wedge d^{\perp}) = c^{\perp} \vee d^{\perp} = (c \wedge d)^{\perp} = v^{\perp}. \end{array}$

By the same way we prove that $(u \wedge v^{\perp}) \vee (u \wedge v) = u$, which implies $u \leftrightarrow v^{\perp}$. Symmetrically $u^{\perp} \leftrightarrow v$, therefore, $u \stackrel{s}{\leftrightarrow} v$.

(ii) $u \wedge u^{\perp} = 0_A$ for any $u \in D$.

Let $u = a \wedge b$, where $a \in A$ and $b \in B$. Then $u \wedge u^{\perp} = (a \wedge b) \wedge (a^{\perp} \vee b^{\perp}) = (a \wedge b \wedge a^{\perp}) \vee (a \wedge b \wedge b^{\perp}) = 0_A \vee 0_B = 0_A$.

(iii) The set D is strongly f-compatible.

Denote $a^0 = a^{\perp}$, $a^1 = a$ for any $a \in P$. Let $u_1, u_2, \ldots, u_{n+1} \in D \cup D^{\perp}$. Then there is a set $J \subset \{(j_1, \ldots, j_n, j_{n+1}, \ldots, j_{2n}) \in \{0, 1\}^{2n}\}$ such that $u_1 \wedge \cdots \wedge u_n = \bigvee_J w_j$, where $w_j = a_1^{j_1} \wedge \cdots \wedge a_n^{j_n} \wedge b_1^{j_{n+1}} \wedge \cdots \wedge b_n^{j_{2n}}$, $a_i^{j_i} \in A$ and $b_i^{j_{n+i}} \in B$ for $i = 1, 2, \ldots, n$. Evidently $w_j \in D$ and $\bigvee_J w_j \in P$, because $w_j \perp w_m$ for $j \neq m$.

Without loss of generality we can assume that $u_{n+1} = a_{n+1} \wedge b_{n+1}$. Due to the above we have $w_j \stackrel{s}{\leftrightarrow} u_{n+1}$, therefore the elements $w_j \wedge u_{n+1}$ and $w_j \wedge u_{n+1}^{\perp}$ exist in P, moreover, $(w_j \wedge u_{n+1}) \vee (w_j \wedge u_{n+1}^{\perp}) = w_j$. Using the *c*-*f*-distributive property we get that

$$P \ni \bigvee_{J} (w_{j} \wedge u_{n+1}) = \left(\bigvee_{J} w_{j}\right) \wedge u_{n+1} = u_{1} \wedge \dots \wedge u_{n} \wedge u_{n+1} =: u,$$

$$P \ni \bigvee_{J} (w_{j} \wedge u_{n+1}^{\perp}) = \left(\bigvee_{J} w_{j}\right) \wedge u_{n+1}^{\perp} = u_{1} \wedge \dots \wedge u_{n} \wedge u_{n+1}^{\perp} =: v.$$

Then $u \vee v = \bigvee_{J} (w_j \wedge u_{n+1}) \vee \bigvee_{J} (w_j \wedge u_{n+1}^{\perp}) = \bigvee_{J} (w_j \wedge u_{n+1} \vee w_j \wedge u_{n+1}^{\perp}) = \bigvee_{J} w_j = u_1 \wedge \cdots \wedge u_n$, which implies that the set D is strongly f-compatible.

Finally, denote by $U = \left\{ u = \bigvee_{i=1}^{n} u_i : u_i \in D, n \ge 1 \right\}.$

We claim to show that U is a Boolean subalgebra of P containing the Boolean algebras A and B.

(1) If $u, v \in U$, then $u \wedge v \in U$.

Let $u \in U$, $u = \bigvee_{i=1}^{n} u_i$ and $v \in D$. The set $\{v, u_1, \dots, u_n\}$ is strongly *f*-compatible, then by Proposition 3.2, $v \stackrel{s}{\leftrightarrow} u$, which implies $u \wedge v \in P$, moreover, $u \wedge v = \left(\bigvee_{i=1}^{n} u_i\right) \wedge v = \bigvee_{i=1}^{n} (u_i \wedge v) \in U$.

Suppose now that $u, v \in U$, $u = \bigvee_{i=1}^{n} u_i$, $v = \bigvee_{j=1}^{m} v_j$. The set $\{v_j, u_1, \ldots, u_n\}$

is strongly *f*-compatible and, therefore, $v_j \stackrel{s}{\leftrightarrow} u$ for any j = 1, 2, ..., m. Then $U \ni \bigvee_{i=1}^{m} \bigvee_{j=1}^{n} (u_i \wedge v_j) = \bigvee_{i=1}^{m} (u \wedge v_j) = u \wedge v$.

(2) $u^{\perp} \in U$ for any $u \in U$.

This result follows from the strong *f*-compatibility of the set D (see (iii)). (3) If $u, v \in U$, then $u \lor v \in U$.

This result follows from (1) and (2).

(4) $u \wedge u^{\perp} = 0_A$ and $0_A \leq u \leq 1_A$ for any $u \in U$.

If $u = \bigvee_{i=1}^{n} u_i$, then from the strong compatibility of u_k and u for any k = 1, 2, ..., n, we have $u \wedge u^{\perp} = \bigvee_{k=1}^{n} \left(u_k \wedge \bigwedge_{i=1}^{n} u_i^{\perp} \right) = 0_A$ and $0_A = u \wedge u^{\perp} \leq u \leq u \vee u^{\perp} = 1_A$ for any $u \in U$. (5) $u \stackrel{s}{\leftrightarrow} v$ for every $u, v \in U$.

In view of the above, $u \wedge v$, $u^{\perp} \wedge v^{\perp} \in P$. Let $u = \bigvee_{i=1}^{n} u_i$ and $v = \bigvee_{j=1}^{m} v_j$. Then $v_j \stackrel{s}{\leftrightarrow} u$ for any $j = 1, \ldots, m$ and the strong *f*-compatibility of the set $\{u_1, \ldots, u_n, v_1, \ldots, v_m\}$ implies that $P \ni \bigvee_{J_0} \left(u_1^{\perp} \wedge \cdots \wedge u_n^{\perp} \wedge v_j^{j_1} \wedge \cdots \wedge v_m^{j_m}\right) = \bigvee_{j=1}^{m} (u^{\perp} \wedge v_j) = u^{\perp} \wedge \left(\bigvee_{j=1}^{m} v_j\right) = u^{\perp} \wedge v$, where the set J_0 is the same as in the proof of the Proposition 3.2. Symmetrically $u \wedge v^{\perp} \in P$.

Calculate

$$(u^{\perp} \wedge v) \lor (u^{\perp} \wedge v) = \left(\bigvee_{J_0} u^{\perp} \wedge v_1^{j_1} \wedge \dots \wedge v_m^{j_m}\right) \lor (u^{\perp} \wedge v_1^{\perp} \wedge \dots \wedge v_m^{\perp}) = \dots = u^{\perp}$$

(see proof of the Proposition 3.2),

$$(u^{\perp} \wedge v) \lor (u \wedge v) = \left(\bigvee_{j=1}^{m} (u^{\perp} \wedge v_j) \right) \lor \left(\bigvee_{j=1}^{m} (u \wedge v_j)
ight)$$

 $= \bigvee_{j=1}^{m} \left((u^{\perp} \wedge v_j) \lor (u \wedge v_j) \right) = \bigvee_{j=1}^{m} v_j = v ,$

which gives $u^{\perp} \leftrightarrow v$. Symmetrically $u \leftrightarrow v^{\perp}$, therefore $u \stackrel{s}{\leftrightarrow} v$.

(6) The distributivity in U follows from the c-f-distributive property and from (5).

From (1)-(6) is evident that U is a Boolean subalgebra of P.

PROPOSITION 3.5. Let A_1, \ldots, A_n be Boolean subalgebras of a q.o.p. P with the c-f-distributive property. The algebras A_1, \ldots, A_n are commensurable if and only if the set $\bigcup_{i=1}^{n} A_i$ is f-compatible.

Proof. If A_1, \ldots, A_n are commensurable, then there is a Boolean subalgebra B such that $\bigcup_{i=1} A_i \subset B$ and every Boolean algebra is f-compatible.

The sufficiency follows from the observation that the Boolean subalgebra containing A_1, \ldots, A_n consists of the elements of the form $\bigvee_{i=1}^m a_{1i} \wedge a_{2i} \wedge \cdots \wedge a_{ni}$, where $a_{ki} \in A_k$ for $k = 1, \ldots, n$ and $m \ge 1$. To prove that, we use the same arguments as in the proof of Proposition 3.4.

The statement of Proposition 3.5 is incorrect if we assume only the mutual compatibility of A_1, \ldots, A_n . Indeed, let $X = \{1, 2, \ldots, 8\}$ and S be a system of all subsets of X with even number of elements. The system S is a q.o.p. Put $A = \{\{1, 2, 3, 4\}, \{5, 6, 7, 8\}, X, \emptyset\}, B = \{\{1, 2, 5, 6\}, \{3, 4, 7, 8\}, X, \emptyset\}, C = \{\{1, 3, 6, 8\}, \{2, 4, 5, 7\}, X, \emptyset\}$. Then A, B, C are pairwisely compatible Boolean subalgebras of S, but $\{1, 2, 3, 4\} \cap \{1, 2, 5, 6\} \cap \{1, 3, 6, 8\} = \{1\}$, so A, B, C are no commensurable.

THEOREM 3.6. A system $\{A_t: t \in T\}$ of Boolean subalgebras of a q.o.p. with the c-f-distributive property is commensurable if and only if the set $\bigcup_{t \in T} A_t$ is f-compatible.

COMPATIBILITY PROBLEM IN QUASI-ORTHOCOMPLEMENTED POSETS

Proof. Let T_0 be any finite nonempty subset of T. In view of Proposition 3.5, there is a Boolean subalgebra $A(T_0)$ containing all A_t for $t \in T_0$. Write $A = \bigcup_{T_0 \subset T} \{A(T_0): T_0 \text{ is a finite subset of } T\}$. Simple verification shows that A is a Boolean subalgebra of P including all A_t , $t \in T$.

PROPOSITION 3.7. Let P be a q.o.p. with $c \cdot \sigma$ -distributive property. Then any Boolean subalgebra of P is contained in a maximal one and a maximal Boolean subalgebra of P is necessarily a Boolean sub- σ -algebra.

The proof of the proposition depends on the following results.

LEMMA 3.8. Let P be a q.o.p. with the $c \cdot \sigma$ -distributive property, let A be a Boolean subalgebra of P, let $\{a_n\}_{n \in \mathbb{N}}$ be a sequence of pairwise orthogonal elements of A and let b be any element of A. Put $a = \bigvee_{n \in \mathbb{N}} a_n$. Then

- (1) $a_i \leftrightarrow a$, $a_i \leftrightarrow a^{\perp}$ for any $i \in \mathbb{N}$;
- (2) $a \wedge a^{\perp} = 0_A$;
- (3) $a_i \stackrel{s}{\leftrightarrow} a \text{ for any } i \in \mathbb{N};$
- (4) $a \wedge b$, $a^{\perp} \wedge b$, $a \wedge b^{\perp}$, $a^{\perp} \wedge b^{\perp} \in P$;
- (5) $a_i \leftrightarrow a \wedge b$, $a_i \leftrightarrow (a \wedge b)^{\perp}$, $a_i \leftrightarrow a \wedge b^{\perp}$, $a_i \leftrightarrow a^{\perp} \wedge b$, $a_i \leftrightarrow a^{\perp} \wedge b^{\perp}$ for any $i \in \mathbb{N}$;
- (6) $a \leftrightarrow a^{\perp} \wedge b$, $a \leftrightarrow a^{\perp} \wedge b^{\perp}$, $a^{\perp} \leftrightarrow a \wedge b$, $a^{\perp} \leftrightarrow a \wedge b^{\perp}$, $b \leftrightarrow a \wedge b^{\perp}$, $b \leftrightarrow a \wedge b^{\perp}$, $b^{\perp} \leftrightarrow a \wedge b$;
- (7) $a \stackrel{s}{\leftrightarrow} a_i \wedge b$, $a \stackrel{s}{\leftrightarrow} a_i \wedge b^{\perp}$ for any $i \in \mathbb{N}$;
- (8) $(a \wedge b)^{\perp} \leftrightarrow (a_i^{\perp} \wedge b)^{\perp}$ for any $i \in \mathbb{N}$;
- (9) $a \leftrightarrow b$, $a \leftrightarrow b^{\perp}$;
- (10) $b \stackrel{s}{\leftrightarrow} a^{\perp} \wedge b$, $b \stackrel{s}{\leftrightarrow} a^{\perp} \wedge b^{\perp}$;
- (11) $a_i^{\perp} \wedge b^{\perp} \stackrel{s}{\leftrightarrow} a^{\perp} \wedge b$ for any $i \in \mathbb{N}$;
- (12) $a \stackrel{s}{\leftrightarrow} b$.

Proof of Proposition 3.7. The first statement follows easily from Zorn's Lemma.

In order to prove the second, suppose that A is a maximal Boolean subalgebra of P. Let $\{a_n\}_{n\in\mathbb{N}}$ be an arbitrary sequence of elements from A. Without loss of generality we may assume that $a_i \leq a_j^{\perp}$ for $i \neq j$. Put $a = \bigvee_{n\in\mathbb{N}} a_n$. If b is any element of A, then by Lemma 3.8, $a \stackrel{s}{\leftrightarrow} b$. It is clear that $b \stackrel{s}{\leftrightarrow} a \lor a^{\perp} = 1_A$, $b \stackrel{s}{\leftrightarrow} a \land a^{\perp} = 0_A$, which implies that $A \leftrightarrow A_a$, where $A_a = \{a, a^{\perp}, a \lor a^{\perp}, a \land a^{\perp}\}$. Referring to Proposition 3.4, there is a Boolean subalgebra B containing Boolean subalgebras A and A_a , which gives A = B. Then $A_a \subset A$ and,

therefore, the element a is from A, which implies that A is a Boolean sub- σ -algebra of P.

From the Proposition 3.7 is evident that the commensurability and σ -commensurability are equivalent notions.

THEOREM 3.9. Let A be a nonempty set of a q.o.p. P with the $c \cdot \sigma$ -distributive property. The following statements are equivalent.

- (i) A is strongly f-compatible.
- (ii) A is σ -commensurable.

Proof. For any $a \in A$, define a Boolean subalgebra A_a via $A_a = \{a, a^{\perp}, a \lor a^{\perp}, a \land a^{\perp}\}$. It is clear that the set $\bigcup_{a \in A} A_a$ is *f*-compatible. Referring to Theorem 3.6 and Proposition 3.7, the proof is finished.

4. Calculus for compatible observables and a joint observable

In the present section we apply the compatibility theorem for Boolean subalgebras of a q.o.p. P to build up the so-called functional calculus for observables of P and for the existence of a joint observable. We note that for compatible observables of a quantum logic, the functional calculus has been build up by Varadarajan [10] and for F-observables of an F-quantum space by Dvurečenskij and Riečan [3].

Throughout this section we shall assume that P is a q.o.p. with the $c - \sigma$ -distributive property.

It is well known that if x is an observable of P and if f is a Borel measurable real-valued function, then a mapping $y = x \circ f^{-1}$ defined via

$$y(E) = x(f^{-1}(E)), \qquad E \in B(\mathbb{R}^1),$$

is an observable of P.

A Boolean sub- σ -algebra A of P is said to be *separable* if A contains a generator of itself with countably many elements.

LEMMA 4.1. A Boolean sub- σ -algebra A of P is separable if and only if there is an observable x of P such that $A = R(x) = \{x(E) : E \in B(\mathbb{R}^1)\}$. Moreover, there is a measurable space (Ω, S) , a σ -homomorphism h from S onto A and an S-measurable mapping $g: \Omega \to \mathbb{R}^1$ such that

$$x(E) = h(g^{-1}(E)), \qquad E \in B(\mathbb{R}^1).$$
 (4.1)

Proof. The sufficiency is evident. Conversely, if A be separable, due to the Loomis-Sikorski theorem (see, for example [9]), there is a σ -algebra S of

subsets of some set Ω and a σ -homomorphism h from S onto A. According to V a r a d a r a j a n [10], there is a measurable mapping $g: \Omega \to \mathbb{R}^1$ such that (4.1) holds.

We recall that an observable x and an observable y are compatible if $x(E) \leftrightarrow y(F)$ for any $E \in B(\mathbb{R}^1)$ and $F \in B(\mathbb{R}^1)$. Analogously we say that $\{x_t: t \in T\}$ is a system of *f*-compatible observables if $\bigcup_{t \in T} R(x_t)$ is an *f*-compatible set in P.

THEOREM 4.2. Let P be a q.o.p. with the $c \cdot \sigma$ -distributive property and let $\{x_t : t \in T\}$ be a family of observables of P. If the observables $x_t, t \in T$, are f-compatible, then there is a measurable space (Ω, S) , real-valued S-measurable functions g_t on Ω , and a σ -homomorphism h of S into P such that

$$x_t(E) = h(g_t^{-1}(E))$$
(4.2)

for all $t \in T$ and $E \in B(\mathbb{R}^1)$. Suppose further that either P is separable in the sense that every Boolean sub- σ -algebra of P is separable, or that T is countable. Then there is an observable x and real-valued Borel functions f_t of a real variable such that for all $t \in T$,

$$x_t = x \circ f_t^{-1} \,. \tag{4.3}$$

Proof. Let $\{x_t: t \in T\}$ be a family of f-compatible observables. According to the compatibility theorem (Theorem 3.6), there is a Boolean sub- σ -algebra A of P such that $R(x_t) \subset A$ for all $t \in T$. The Loomis-Sikorski theorem entails that there is a measurable space (Ω, S) and a σ -homomorphism h from S onto A. Let S_t be a sub- σ -algebra of S such that $h_t := h/S_t$ is a σ -homomorphism of S_t onto the range $R(x_t)$ of x_t for any $t \in T$. Due to Lemma 4.1, we see that there is an S_t -measurable $g_t: \Omega \to \mathbb{R}^1$ such that $x_t(E) = h_t(g_t^{-1}(E)) = h(g_t^{-1}(E))$ for any $E \in B(\mathbb{R}^1)$. This proves the equation (4.2). Theorem 6.9 of [10] entails that there are an observable x and Borel measurable real-valued functions f_t such that (4.3) holds.

The characterization of simultaneous observability given in Theorem 4.2 enables us to construct a calculus of functions of several observables which are f-compatible.

Let x_1, x_2, \ldots, x_n be *f*-compatible observables. Then we may define the sum of observables via

$$x_1 + x_2 + \dots + x_n = x \circ (f_1 + f_2 + \dots + f_n)^{-1}$$
, where $x_i = x \circ f_i^{-1}$.

Finally we apply Theorem 4.2 to the problem of existence of a joint observable of f-compatible observables.

A collection $\{x_i: i = 1, ..., n\}$ of observables of P is said to have a joint observable if there is a σ -homomorphism $w: B(\mathbb{R}^n) \to P$ such that

$$wig(p_i^{-1}(E)ig) = x_i(E) \qquad ext{for any} \quad E\in B(\mathbb{R}^1)\,, \quad i=1,2,\ldots,n\,,$$

where p_i is the projection of \mathbb{R}^n on \mathbb{R}^1 . We call w a joint observable.

We note that the joint observable in a quantum logic, which is not a lattice, need not exist even in the case when $\{x_i: i = 1, ..., n\}$ are mutually compatible (see [6, Example 6]).

THEOREM 4.3. Let P be a q.o.p. with the $c \cdot \sigma$ -distributive property. A system $\{x_i: i = 1, 2, ..., n\}$ of observables of P has a joint observable if and only if $x_1, x_2, ..., x_n$ are f-compatible.

Proof. If x_1, \ldots, x_n are *f*-compatible observables, by Theorem 4.2 there is an observable x and real-valued Borel functions f_t such that $x_i = x \circ f_i^{-1}$, $i = 1, \ldots, n$.

Define a function $f: \mathbb{R}^1 \to \mathbb{R}^n$ via

$$f(t) = (f_1(t), \ldots, f_n(t)), \qquad t \in \mathbb{R}^1$$

The function f is $B(\mathbb{R}^1)$ -measurable, i.e. $f^{-1}(H) \in B(\mathbb{R}^1)$ for any $H \in B(\mathbb{R}^n)$. Now we define a mapping $w: B(\mathbb{R}^n) \to P$ such that

$$w(H) = x(f^{-1}(H))$$
 for $H \in B(\mathbb{R}^n)$.

It is evident that the mapping w is a σ -homomorphism.

Therefore, $f^{-1}(p_i^{-1}(E)) = \{t \in \mathbb{R}^1 : f(t) \in p_i^{-1}(E)\} = \{t \in \mathbb{R}^1 : f_i(t) \in E\}$ = $f_i^{-1}(E)$ for any $E \in B(\mathbb{R}^1)$, we have $w(p_i^{-1}(E)) = x(f^{-1}(p_i^{-1}(E))) = x(f_i^{-1}(E)) = x_i(E)$, which implies that w is a joint observable of x_1, \ldots, x_n . It is simple to verify that the joint observable is unique.

REFERENCES

- [1] BRABEC, J.—PTÁK, P.: On compatibility in quantum logics, Found. Phys. 12 (1982), 207-212.
- [2] DVUREČENSKIJ, A. CHOVANEC, F.: Fuzzy quantum spaces and compatibility, Internat. J. Theoret. Phys. 9 (1988), 1069-1082.
- [3] DVUREČENSKIJ, A.—RIEČAN, B.: On joint observables for F-quantum spaces, Busefal 35 (1988), 10–14.

COMPATIBILITY PROBLEM IN QUASI-ORTHOCOMPLEMENTED POSETS

- [4] GUDDER, S. P.: Stochastic Methods in Quantum Mechanics, Elsevier/North-Holand, Amsterdam, 1979.
- [5] KOLMOGOROV, A. N.: Grundbegriffe der Wahrscheinlichkeitsrechnung, Berlin, 1933.
- [5] NEUBRUNN, T.—PULMANNOVÁ, S.: On compatibility in quantum logics, Acta Math. Univ. Comen. 42/43 (1983), 153–168.
- [7] PTÁK, P.-PULMANNOVÁ, S.: Quantum Logics. (Slovak), Veda, Bratislava, 1989.
- [8] RIEČAN, B.: A new approach to some notions of statistical quantum mechanics, Busefal 35 (1988), 4-6.
- [9] SIKORSKI, R.: Boolean Algebras, Springer-Verlag, New York, 1964.
- [10] VARADARAJAN, V. S.: Geometry of Quantum Theory, D. van Nostrand comp., INC., New York, 1968.

Received December 3, 1990 Revised April 21, 1992

Department of Mathematics Technical University 031 19 Liptovský Mikuláš Slovakia